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CHAPTER 1

 Accounting in Action
ASSIGNMENT CLASSIFICATION TABLE 

	Study Objectives
	Questions
	Brief

Exercises
	Exercises
	Problems

Set A
	Problems

Set B

	1. Explain why accounting is important to accountants and non-accountants.


	1, 2, 3, 4, 5
	1, 2
	1, 3
	1
	1

	2. Explain generally accepted accounting principles and assumptions.


	6, 7, 8, 9, 10 
	3, 4
	2, 3 
	2, 3, 5, 6 
	2, 3, 6 

	3. Use the accounting equation and explain the meaning of assets, liabilities, and owner’s equity.


	11, 12, 13, 14 
	5, 6, 7, 10
	3, 4, 5, 6, 11
	4, 5, 7
	4, 5, 7 

	4. Analyze the effects of business transactions on the accounting equation.

	15, 16, 17 
	8, 9, 
	7, 8, 9, 10 
	4, 5, 8, 9 
	4, 5, 8, 9 

	5. Prepare financial statements.


	18, 19, 20, 21, 22
	10, 11, 12 
	11, 12, 13, 14, 15 
	6, 7, 8, 9, 10, 11 
	6, 7, 8, 9, 10, 11 


ASSIGNMENT CHARACTERISTICS TABLE 

	Problem

Number
	Description
	Difficulty

Level
	Time

Allotted (min.)

	
	
	
	

	1A
	Identify financial statements for decision-making.
	Simple
	10-15

	2A
	Identify assumption or principle violated.
	Simple
	15-20

	3A
	Determine forms of business organization.
	Simple
	10-15 

	4A
	Determine missing amounts.
	Moderate
	25-35

	5A
	Analyze transactions and calculate owner’s equity.
	Simple
	35-45

	6A
	Prepare corrected balance sheet.
	Moderate
	35-45

	7A
	Classify accounts and prepare accounting equation.
	Simple
	20-30

	8A
	Analyze transactions and balance sheet.
	Simple
	40-50

	9A
	Analyze transactions and prepare financial statements.
	Moderate
	40-50

	10A
	Prepare financial statements.
	Simple
	35-45

	11A
	Determine missing amounts, and comment.


	Moderate
	45-55

	1B
	Identify financial statements for decision-making.
	Simple
	10-15

	2B
	Identify assumption or principle violated.
	Simple
	15-20

	3B
	Determine forms of business organization.
	Simple
	10-15

	4B
	Determine missing amounts.
	Moderate
	25-35

	5B
	Analyze transactions and calculate owner’s equity.
	Simple
	35-45

	6B
	Prepare corrected balance sheet.
	Moderate
	35-45

	7B
	Classify accounts and prepare accounting equation.
	Simple
	20-30

	8B
	Analyze transactions and prepare balance sheet.
	Simple
	40-50

	9B
	Analyze transactions and prepare financial statements.
	Moderate
	40-50

	10B
	Prepare financial statements.
	Simple
	35-45

	11B
	Determine missing amounts, and comment.
	Moderate
	45-55


ADVANCE \d6

BLOOM’S TAXONOMY TABLE
Correlation Chart between Bloom’s Taxonomy, Study Objectives and End-of-Chapter Material

	Study Objective
	Knowledge
	Comprehension
	Application
	Analysis
	Synthesis
	Evaluation

	1. 
Explain why accounting is important to accountants and non-accountants.

	Q1-5

BE1-2

E1-3
	Q1-1

Q1-2

Q1-3

Q1-4

E1-1
	
	BE1-1
	P1-1A

P1-1B
	

	2. 
Explain generally accepted accounting principles and assumptions.


	Q1-9

E1-3
	Q1-7

Q1-8

Q1-10

BE1-3

BE1-4

E1-2

P1-2A

P1-2B
	Q1-6

P1-3A

P1-6A

P1-3B

P1-6B
	
	
	

	3. 
Use the accounting equation and explain the meaning of assets, liabilities, and owner’s equity.


	Q1-12

E1-3
	Q1-11

Q1-13

Q1-14

BE1-10

E1-11
	BE1-5

BE1-6

BE1-7

E1-4

E1-5

E1-6

P1-4A

P1-5A

P1-7A

P1-4B

P1-5B

P1-7B
	
	
	

	4. 
Analyze the effects of business transactions on the accounting equation.

	
	Q1-15

E1-7
	Q1-16

Q1-17

BE1-8

BE1-9

E1-8

E1-9

E1-10

P1-4A

P1-5A

P1-8A

P1-9A

P1-4B

P1-5B

P1-8B

P1-9B
	
	
	

	5. 
Prepare financial statements.

	
	Q1-18

Q1-19

Q1-20

Q1-21

Q1-22

BE1-10

BE1-11

E1-11
	BE1-12

E1-12

E1-13

E1-14

E1-15

P1-6A

P1-7A

P1-8A

P1-9A

P1-10A

P1-6B

P1-7B

P1-8B

P1-9B

P1-10B
	P1-11A

P1-11B
	
	

	Broadening Your Perspective 
	BYP1-1
	Continuing Cookie Chronicle
	BYP1-3
	BYP1-4
	BYP1-2

BYP1-5
	


ANSWERS TO QUESTIONS

1. Yes. Accounting is the financial information system that provides useful financial information to every person who owns and uses economic resources or otherwise engages in economic activity.

2. Understanding the basics of accounting is helpful for everyone. Studying accounting allows you to learn how the world of business actually works. Learning how to read and interpret financial information will provide you with a valuable set of skills.

3. Ethics is a fundamental business concept. If accountants do not have a high ethical standard the information they produce will not have any credibility. 

Ethics are important to statement users because they provide them comfort that the financial information they are using is truthful, or else it will have no value to them.

4. (a) 
Internal users are those who plan, organize, and run businesses and include managers, supervisors, directors, and company officers. External users work for other organizations but have reasons to be interested in the company’s financial position and performance, and include investors (owners), and creditors.


(b) 
To assist internal users, accounting provides internal reports. Examples include financial comparisons of operating alternatives, projections of income from new sales campaigns, and forecasts of cash needs for the next year.

Investors use the financial accounting information to evaluate a company’s performance. They would look for answers to questions such as “Is the company earning satisfactory income?”

Creditors use financial accounting information to evaluate a company’s credit risk. They would look for answers to questions such as “Can the company pay its debts as they come due?”

QUESTIONS (Continued)

5. Accounting is the process of identifying, recording, and communicating the economic events of an organization to interested users of the information. The first step of the accounting process is to identify events that are (a) considered evidence of economic activity and (b) relevant to a particular business organization. Once identified and measured, the events are recorded to provide a permanent history of the financial activities of the organization. Recording consists of keeping a chronological diary of these measured events in an orderly and systematic manner. The information is communicated through the preparation and distribution of accounting reports, the most common of which are called financial statements. A vital element in the communication process is the accountant's ability and responsibility to analyze and interpret the reported information.

6.
Ouellette Travel Agency should report the land at $75,000 on its December 31 balance sheet. An important concept that accountants follow is the cost principle, which states that assets should be recorded at their cost. Cost has important advantages over other valuations: it is reliable, objective and verifiable. The answer would not change if the value of the land temporarily declined to $65,000. In addition, the market value of the land is not relevant when a company is a going concern. The going concern assumption assumes the company will continue to operate its business indefinitely using the land for its intended purpose despite its change in value.

7.
The going concern assumption assumes that a business will remain in operation long enough to realize the value of its assets. This supports recording the asset at its cost because the intent is to use its assets for their intended purpose and to complete the company’s commitments.
8.
The monetary unit assumption requires that only transaction data capable of being expressed in terms of money be included in the accounting records of the economic entity. An important part of the monetary unit assumption is the added assumption that the unit of measure remains sufficiently constant over time. The assumption of a stable monetary unit has been seriously challenged during periods of high inflation (rising prices). In such cases, dollars of different purchasing power are added together without any adjustment for the effect of inflation.

  9.
The economic entity assumption states that economic events can be identified with a particular unit of accountability. This assumption requires that the activities of the entity be kept separate and distinct from (1) the activities of its owners and (2) all other economic entities.
QUESTIONS (Continued)

10. 
In a proprietorship, the business is owned by one person and the equity is termed “owner’s equity.” Owner’s equity is increased by an owner’s investments and the revenues generated by the business. Owner’s equity is decreased by an owner’s drawings and the expenses incurred by the business.


In the corporate form of business organization, the owners are the shareholders and the equity is termed “shareholders’ equity.” Shareholders’ equity is separated into two components: share capital and retained earnings. The investments by the shareholders (owners) are called share capital. Retained earnings represent the accumulated earnings of the company that have not been distributed to shareholders. Withdrawals by the shareholders decrease retained earnings and are called “dividends.” Public corporations issue publicly traded shares. That is, their shares are listed on Canadian stock exchanges. Private corporations do not issue publicly traded shares.


Income trusts are special or limited purposes corporations that are set up specifically to invest in income-producing assets. The trust pays out most of its earnings to investors, who are called unitholders.

11.
Business transactions are the economic events of the enterprise recorded by accountants because they affect the basic equation.

ADVANCE \d6
(a)
The death of the owner of the company is not a business transaction, as it does not affect the basic equation.


(b)
Supplies purchased on account is a business transaction, because it affects the basic equation (+A; +L).


(c)
A terminated employee is not a business transaction, as it does not affect the basic equation.


(d)
Winning the award is not a business transaction, as it does not affect the basic equation.

12.
The basic accounting equation is Assets = Liabilities + Owner's Equity.

13.
(a)
Assets are economic resources owned by a business. Liabilities are creditors' claims against the assets. Put more simply, liabilities are existing debts and obligations. Owner's equity is the ownership claim on the assets. 

(b)
The items affecting owner's equity are invested capital, drawings, revenues, and expenses.

QUESTIONS (Continued)

14.
(a)
Cash – asset


(b)
Accounts Payable - liability

(c)
Drawings – owner’s equity


(d)
Accounts receivable – asset


(e)
Supplies – asset


(f)
Equipment – asset


(g)
Salaries payable – liability


(h)
Service revenue – owner’s equity


(i)
Rent expense – owner’s equity


(j)
Note payable - liability

15.
Yes, a business can enter into a transaction in which only the left side of the accounting equation is affected. An example would be a transaction where an increase in one asset is offset by a decrease in another asset, such as when equipment is purchased for cash (resulting in an increase in the equipment account which is offset by a decrease in the cash account).

16.
(a)
Decrease assets (cash) and decrease owner's equity (due to the expense incurred).


(b)
Increase assets (equipment) and decrease assets (cash).


(c)
Increase assets (cash) and increase owner's equity (due to the capital invested).


(d)
Decrease assets (cash) and decrease liabilities (accounts payable).


(e)
Increased assets (account receivable) and increase owner’s equity (revenue)

17.
No, this treatment is not proper. While the transaction does involve a disbursement of cash, it does not represent expenses. Expenses are the gross decrease in owner's equity resulting from business activities entered into for the purpose of earning income. This transaction is simply a withdrawal of investment of capital from the business, made by the owner and should be recorded as a decrease in both cash and owner’s equity.

18.
Yes. Net income does appear on the income statement—it is the result of subtracting expenses from revenues. In addition, net income appears in the statement of owner's equity—it is shown as an addition to the beginning-of-period capital. Indirectly, the net income of a company is also included in the balance sheet, as it is included in the capital account, which appears in the owner's equity section of the balance sheet.

QUESTIONS (Continued)

19.
(a)
The income statement reports net income for the period. The net income figure from the income statement is shown on the statement of owner’s equity as an addition to beginning capital. If there is a net loss it is deducted from the opening capital account balance.


(b)
The statement of owner’s equity explains the change in the owner’s capital account balance from one period to the next. The ending capital account balance is reported on the balance sheet.


(c)
The cash flow statement explains the change in the cash balance from one period to the next. The ending balance of cash is reported on the balance sheet
20.
(a)
Income statement


(b)
Balance sheet


(c)
Income statement


(d)
Balance sheet


(e)
Statement of owner's equity


(f)  
Balance sheet and statement of owner’s equity


(g)
Balance sheet


(h)
Income statement


(i)
Balance sheet


(j)
Cash flow statement


(k) 
Statement of owner’s equity


(l)
Balance sheet

21.
It is likely that the use of rounded figures would not change the decisions made by the users of the financial statements. As well, presenting the information in this manner make the statements easier to read and analyze thereby increasing their utility to the users.

22.
Financial statement users often compare the current year’s results with prior years to see if there is improvement. For example they may compare sales this year with sales last year. If the year-end is not a fixed date the results could be affected because one period may be slightly longer than the other. 

SOLUTIONS TO BRIEF EXERCISES

BRIEF EXERCISE 1-1

1
The student is provided with the opportunity to cheat on an exam.

2
A production supervisor might become aware of a defect in a company’s product that is ready to ship and their bonus is based on volume of shipments.

3
A salesperson might be provided with the opportunity to not report cash sales. 

4
A banker is able to approve a loan for unqualified family member.

5 
The prime minister of Canada interferes in a political inquiry of a political ally.

BRIEF EXERCISE 1-2


(a)
(b)

Owner




4
Internal

Marketing manager

3
Internal

Creditor




2
External

Chief financial officer

5
Internal

Labour union


1
External

BRIEF EXERCISE 1-3

(a) 
P

(b) 
C

(c) 
PP 

(d)
T

BRIEF EXERCISE 1-4

(a) 4. 
Monetary unit assumption

(b) 1. 
Cost principle

(c) 3. 
Economic entity assumption

(d) 2. 
Going concern assumption

BRIEF EXERCISE 1-5

(a)
$80,000 – $48,000 = $32,000 (Owner's Equity)
(b)
$75,000 + $50,000 = $125,000 (Assets)
(c)
$94,000 – $38,000 = $56,000 (Liabilities)
BRIEF EXERCISE 1-6

(a)
$200,000 + $100,000 – $40,000 + $450,000 – $320,000 


= $390,000 (Total assets)
(b)
$80,000 – ($25,000 – $7,000 + $50,000 – $35,000) 


= $47,000 (Total liabilities)
(c)
$600,000 – (2/3 X $600,000) = $200,000 (Owner's equity)
BRIEF EXERCISE 1-7

Assets = Liabilities + Owner’s Equity

$700,000 = $500,000 + X

Owner’s Equity = Assets – Liabilities

$200,000 = $700,000 - $500,000

(a)
($700,000 + $150,000) – ($500,000 – $80,000) 


= $430,000   (Owner's equity)

(b)
($500,000 - $100,000) + ($200,000 – $50,000 + $100,000) 


= $650,000   (Assets)

(c)
($700,000 + $90,000) – ($200,000 + $170,000 - $50,000) 


= $470,000   (Liabilities)

BRIEF EXERCISE 1-8

	Trans-action
	Assets
	Liabilities
	Owner's Equity

	
	
	
	Capital
	Drawings 
	Revenues 
	Expenses

	1.
	+$250
	+$250
	NE
	NE
	NE
	NE

	2.
	+500
	NE
	NE
	NE
	+$500
	NE

	3.
	-300
	NE
	NE
	NE
	NE
	-$300

	4.
	+1,000
	NE
	+$1,000
	NE
	NE
	NE

	5.
	-400
	NE
	NE
	-$400
	NE
	NE

	6.
	+500 / 
-500
	NE
	NE
	NE
	NE
	NE


BRIEF EXERCISE 1-9


E

(a) 
Cost incurred for advertising


R

(b) 
Commission earnings


E

(c) 
Costs incurred from insurance


E

(d) 
Amounts paid to employees


NE

(e) 
Cash paid to purchase equipment


R

(f) 
Services performed


R

(g) 
Rent received


E

(h) 
Utilities incurred


D

(i) 
Cash distributed to owner


NE

(j) 
Collection of an account receivable

ADVANCE \d6

ADVANCE \d6BRIEF EXERCISE 1-10








(a)


(b)

1.
 
Accounts receivable

A


BS


2.
 
Salaries payable


L


BS

3.
 
Office supplies


A


BS

4.
 
Supplies expense

 
OE


IS

5.
 
Service revenue

 
OE


IS

6.
 
Note payable


 
L


BS


7.

Cash




 
A


BS


8.

Drawings


 
OE

 
OE

BRIEF EXERCISE 1-11

(a)
BS
Accounts receivable

(b)  
BS
Inventories

(c) 
IS
Amortization expense

(d) 
BS
Share capital

(e) 
BS
Building

(f) 
IS
Stampede revenue

(g)
IS
Horse racing revenue

(h) 
BS
Accounts payable and accrued liabilities

(i) 
BS
Cash and short-term deposits

(j) 
IS
Administration, marketing, and park services expense

(k) 
IS
Food and beverage revenue

BRIEF EXERCISE 1-12

Beginning capital + Investments + Net income (or – Net loss) – Drawings = Ending capital

(a)
Ending capital balance
$198,000


Beginning capital balance
 168,000

Net income
$ 30,000
(b)
Ending capital balance
$198,000


Beginning capital balance
 168,000

Increase in capital
  30,000


Deduct:  Portion of increase arising from 


nvestment
0               8,000

Net income
$ 22,000
(c)
Ending capital balance
$198,000


Beginning capital balance
 168,000

Increase in capital
  30,000


Deduct:  Portion of increase arising from 



investment
$10,000

Add: Portion of decrease arising from 



withdrawal
  5,000
     5,000

Net income
$ 25,000

SOLUTIONS TO EXERCISES

EXERCISE 1-1

(a) Chief Financial Officer – Does Roots Canada Ltd. generate enough cash to expand its product line?


Human Resource Manager – What is Roots Canada Ltd.’s annual salary expense?

(b)
Creditor – Does Roots Canada have enough cash available to make its monthly debt payments?


Investor – How much did Roots Canada pay in dividends last year?

EXERCISE 1-2

(a) This is a violation of the cost principle. Land was reported at its market value, when it should have been recorded and reported at cost.

(b) This is a violation of the economic entity assumption. An owner’s personal transactions should be kept separate from those of the business.

(c)
This is a violation of the monetary unit assumption. An important part of the monetary unit assumption is the stability of the monetary unit (the dollar) over time. Inflation is considered a non-issue for accounting purposes in Canada and is ignored.

EXERCISE 1-3

(a) Corporation

(b) Ethics

(c) Accounts payable

(d) Accounts receivable

(e) Unitholders’ equity

(f) Creditor

(g) Balance sheet

(h) Proprietorship

EXERCISE 1-4

(a)  
($ in U.S. millions)


L

Accounts payable
$   843.9


A

Accounts receivable
2,262.1


A

Cash
1,388.1


A

Inventories
1,811.1


A

Investments
436.6


A

Land, buildings, and equipment
1,605.8


L

Notes payable
763.3


A

Other assets
1,289.9


L

Other liabilities
1,542.2


SE

Retained earnings
4,396.5


SE

Share capital
1,247.7

(b)
Assets = Liabilities + Shareholders’ Equity


$1,388.1 + $2,262.1 + $1,811.1 + $1,605.8 + $436.6 + $1,289.9 


= ($843.9 + $763.3 + $1,542.2) + ($1,247.7 + $4,396.5)


$8,793.6 = $3,149.4 + $5,644.2

EXERCISE 1-5

(a)
Total assets (beginning of year)

$97,000

Total liabilities (beginning of year)

  58,000
Total owner's equity (beginning of year)

$39,000
ADVANCE \d6(b)
Total owner's equity (end of year)

$70,000

Total owner's equity (beginning of year)

  39,000
Increase in owner's equity

$31,000
Total revenues

$215,000

Total expenses

 175,000
Net income

$ 40,000
Increase in owner's equity

$31,000

Less: Net income

$(40,000)

Add: 
Drawings

  14,000
(26,000)
Investments

$  5,000
ADVANCE \d6(c)
Total assets (beginning of year)

$129,000

Total owner's equity (beginning of year)

   50,000
Total liabilities (beginning of year)

$ 79,000

ADVANCE \d6(d)
Total owner's equity (end of year)

$75,000


Total owner's equity (beginning of year)

  50,000

Increase in owner's equity

$25,000

Total revenues

$100,000


Total expenses

    55,000

Net income

$  45,000

Increase in owner's equity

$25,000


Less:  Net income

$(45,000)

   

ADVANCE \r1Investments

            0
(45,000)


Drawings

$ 20,000
EXERCISE 1-5 (Continued)

(e)
Total liabilities (end of year)

$  65,000

Total owner's equity (end of year)

   95,000
Total assets (end of year)

$160,000
(f)
Total owner's equity (end of year)

$ 95,000


Total owner's equity (beginning of year)

   35,000

Increase in owner's equity

$ 60,000

Increase in owner's equity

$60,000


Less:  ADVANCE \r1Investments

$(25,000)

Plus:
Drawings

   10,000
(15,000)

Net income

$45,000


Net income

$45,000


Total expenses

 40,000

Total revenues

$85,000
EXERCISE 1-6 

(a)
Owner's equity—12/31/06 ($400,000 – $150,000)

$250,000


Owner's equity—1/1/06

0            0

Increase in owner's equity

250,000


Less:  Owner’s investment

  100,000


150,000


Add:  Drawings

    25,000

Net income for 2006

$175,000
ADVANCE \d6(b)
Owner's equity—12/31/07 ($560,000 – $175,000)

$385,000

Owner's equity—12/31/06—see (a)

  250,000

Increase in owner’s equity
 
135,000


Less: Owner’s investment

    50,000

Net income for 2007

$  85,000
EXERCISE 1-6 (Continued)

ADVANCE \d6(c)
Owner's equity—12/31/08 ($690,000 – $250,000)

$440,000


Owner's equity—12/31/07—see (b)

0 385,000

Increase in owner's equity

55,000


Add: Drawings

   20,000

Net income for 2008

$ 75,000
EXERCISE 1-7

1. Purchase inventory on credit. 

Increases an asset (inventory) and increases a liability (accounts payable).

2. Investment made by owner.

Increases an asset (cash) and increases owner’s equity (owner’s capital).

3. Payment of accounts payable.

Decreases an asset (cash) and decreases a liability (accounts payable).

4. Withdrawal of cash by the owner.

Decreases an asset (cash) and decreases owner’s equity (drawings).

5. Record wages due to employees.

Increases a liability (wages payable) and decreases owner’s equity (expense).

6. Collect an accounts receivable.

Increases one asset (cash) and decreases another asset (accounts receivable).

Note: these are examples. There are other correct responses.

EXERCISE 1-8

	Trans-
action
	Assets
	Liabilities
	Owner’s Equity

	
	Cash +
	Accounts Receivable +
	Equipment =
	Accounts Payable +
	Owner’s Capital -
	Drawings +
	Revenues -
	Expenses

	1.
	+$50,000
	
	
	
	+$50,000
	
	
	

	2.
	-600
	
	
	
	
	
	
	-$600

	3.
	
	
	+$5,000
	+$5,000
	
	
	
	

	4.
	
	+$2,500
	
	
	
	
	+$2,500
	

	5.
	-1,000
	
	
	
	
	-$1,000
	
	

	6.
	+1,700
	-1,700
	
	
	
	
	
	

	7.
	
	
	
	+300
	
	
	
	-300

	8.
	-4,000
	
	+4,000
	
	
	
	
	

	9.
	+1,000
	
	
	
	
	
	+1,000
	

	10.
	-5,000
	
	
	-5,000
	
	
	
	

	Total
	+$42,100
	+$800
	+$9,000
	+$300
	+$50,000
	-$1,000
	+$3,500
	-$900






$51,900
=
$51,900
EXERCISE 1-9

	Trans-

action
	Assets
	Liabilities
	Owner’s Equity

	
	Cash +
	Accounts Receivable +
	Computer Equipment =
	Accounts Payable +
	Owner’s Capital -
	Drawings +
	Revenues -
	Expenses

	1.
	
	
	+$19,000
	+$19,000
	
	
	
	

	2.
	-$4,000
	
	
	
	
	
	
	-$4,000

	3.
	+15,000
	-$15,000
	
	
	
	
	
	

	4.
	+3,000
	
	
	
	
	
	+3,000
	

	5.
	-1,000
	
	
	
	
	
	
	-$1,000

	6.
	+32,000
	
	
	
	+$32,000
	
	
	

	7.
	-19,000
	
	
	-19,000
	
	
	
	

	8.
	
	
	
	+1,000
	
	
	
	-1,000

	Total
	+$26,000
	-$15,000
	+$19,000
	+$1,000
	+$32,000
	
	+$3,000
	-$6,000





$30,000
=
$30,000

EXERCISE 1-10

(a)
1.
Owner invested $10,000 cash in the business.


2.
Purchased office equipment for $5,000, paying $2,000 in cash with the balance of $3,000 on account.


3.
Paid $750 cash for supplies.


4.
Earned $6,100 in fees, receiving $2,700 cash with the remaining $3,400 on account.


5.
Paid $1,500 cash on accounts payable.


6.
Owner withdrew $2,000 cash for personal use.


7.
Paid $750 cash for rent.


8.
Collected $450 cash from customers on account.


9.
Paid salaries of $2,900.


10.
Incurred $550 of utilities expense on account.

(b)
Investment

$10,000

Fees earned

6,100

Drawings

(2,000)

Rent expense

(750)

Salaries expense

(2,900)

Utilities expense

     ADVANCE \l0(550)

Increase in owner’s equity

$ 9,900
ADVANCE \d6(c)
Fees earned

$6,100

Rent expense

(750)

Salaries expense

(2,900)

Utilities expense

    ADVANCE \l0(550)


Net income

$1,900
ADVANCE \d6

ADVANCE \d6
EXERCISE 1-11

1.
 
Accounts payable


L


BS


2.
 
Accounts receivable

A


BS


3.

Cash




 
A


BS


4.

Equipment


 
A


BS


5.

Interest payable

 
L


BS


6.

Interest revenue

 
OE


IS


7.

Interest expense

 
OE


IS


8.
 
Investment by the owner

OE


OE

9.

Owner’s drawings

 
OE

 
OE


10.

Salaries expense

 
OE


IS


EXERCISE 1-12

BOURQUE & CO.

Income Statement

Month Ended August 31, 2008

ADVANCE \u7

ADVANCE \d6Revenues


Fees earned


$6,100

Expenses


Salaries expense

$2,900


Rent expense

750


Utilities expense

    550


Total expenses


  4,200
Net income


$1,900
EXERCISE 1-12 (Continued)

BOURQUE & CO.

Statement of Owner's Equity

Month Ended August 31, 2008

ADVANCE \u7

ADVANCE \d6B. Bourque, Capital, August 1


$00,000

Add:  
Investments

$10,000


Net income

   1,900
  11,900



11,900

Less:  Drawings


    2,000
B. Bourque, Capital, August 31


$  9,900
BOURQUE & CO.

Balance Sheet

August 31, 2008

ADVANCE \u7

ADVANCE \d6Assets

Cash


$  3,250

Accounts receivable

2,950

Supplies

750

Office equipment

    5,000
Total assets

$11,950
Liabilities and Owner's Equity

Liabilities

Accounts payable

$02,050

Owner's equity

B. Bourque, Capital

    9,900
Total liabilities and owner's equity

$11,950
EXERCISE 1-13

SERG CO.

Income Statement

Year Ended December 31, 2008

ADVANCE \u7

ADVANCE \d6Revenues


Service revenue


$55,000

Expenses


Salaries expense

$28,000


Rent expense

7,200


Utilities expense

2,100


Advertising expense

500


Interest expense

0   700


Other expenses

      800


Total expenses


  39,300
Net income


$15,700
SERG CO.

Statement of Owner's Equity

Year Ended December 31, 2008

ADVANCE \u7

ADVANCE \d6A. Serg, Capital, January 1

$48,000

Add: 
Investment

3,000


Net income

  15,700


66,700

Less:  Drawings

    5,000
A. Serg, Capital, December 31

$61,700
 EXERCISE 1-14

ADVANCE \u3ATLANTIC CRUISE COMPANY

Income Statement

Month Ended July 31, 2008

ADVANCE \u7

ADVANCE \d6Revenues


Ticket revenue


$350,000

Expenses


Salaries expense

$132,000


Maintenance expense

80,000


Food, fuel and other operating expenses

60,500


Advertising expense

     3,500


Total expenses


  276,000
Net income


$  74,000
ADVANCE \u3
ADVANCE \d6EXERCISE 1-15

(a)
Revenues – camping fees

$160,000

General store revenue

   40,000
Total revenue

200,000

Operating expenses

 150,000
Net income

$ 50,000
(b) 
J. Cumby, Capital, January 1

$17,000


Add:  
Net income

 50,000



67,000


Less:  J. Cumby, Drawings

    5,000

J. Cumby, Capital, December 31

$62,000
EXERCISE 1-15 (Continued)

(c)

DEER PARK

Balance Sheet

December 31, 2008

ADVANCE \u7

ADVANCE \d6Assets

Cash


$010,000

Accounts receivable

21,000

Supplies

2,500

Equipment

  110,000

Total assets

$143,500
ADVANCE \u3

ADVANCE \d6
Liabilities and Owner's Equity

Liabilities


Notes payable

$070,000


Accounts payable

   11,500


Total liabilities

81,500

Owner's equity


J. Cumby, Capital

   62,000 



Total liabilities and owner's equity

$143,500
SOLUTIONS TO PROBLEMS

	PROBLEM 1-1A


(a) To determine if the Private Label Company has enough cash to expand the business and at the same time keep his usual amount of drawings the owner would need to focus his attention on the cash flow statement. The cash flow statement would indicate where cash is coming from and what it is being used for. This in conjunction with other statements, such as the balance sheet and income statement, would help the owner predict future cash inflows and outflows.

(b) In making an investment, the Ontario investor is becoming a partial owner of the company. The information that will be most relevant to her will be on the income statement. The income statement reports the past performance of the company in terms of its revenue, expenses and net income. This is the best indicator of the company’s future potential. 

(c) In deciding to extend credit to a new customer Comeau Ltée would focus its attention on the balance sheet. The terms of credit they are extending require repayment in a short period of time. Funds to repay the credit would come from cash on hand. The balance sheet will show if the company has enough cash to meet its obligations.
	PROBLEM 1-2A


1.
Recording the impact of the President’s death violated the cost principle and monetary unit assumption. Although the President may be very important to the company, his death did not trigger an accounting transaction. Disclosure of the president’s death could be made in the company’s annual report but it should not be recorded in the accounting records or on the financial statements. 

2.
This violates the economic entity assumption. The portion of the asset and expense relating to Paradis’s family should not be recorded in the company’s records. It would be best to treat the power boat as a personal asset. When the boat is used for business purposes, the Paradis family might consider renting to the company, rather than having the company own it.

3.
Recording the equipment at $300,000 violated the cost principle for the Montigny Company, which states that assets are recorded at the amount paid to acquire them. It does not permit writing them up in value.

	PROBLEM 1-3A


(a) The professors should incorporate their business because of their concerns about the legal liabilities. A corporation is the only form of business that provides limited liability to it owners.

(b) Joseph should run his bait shop as a proprietorship because this is the simplest form of business to establish. It is also the least expensive. He is the only person involved in the business and is planning to operate for a limited time.

(c) Tom should form an income trust to attract investors. This is the best form of business for him to choose because he expects to attract investors for an income-producing asset. A trust pays out most of its earnings to the investors in the form of guaranteed consistent cash distributions.

(d) A partnership would be the most likely form of business for Darcy, Ellen and Meg to choose. It is simpler to form than a corporation and less costly.
	PROBLEM 1-4A


(a)
Using the balance sheet equation:


Assets = Liabilities + Owner’s Equity


$665,000 = Liabilities + $285,000


Liabilities = $380,000 

(b)
Using the income statement equation:


Revenues – Expenses = Net Income


$387,000 – Expenses = $84,000


Expenses = $303,000

(c)  
Using the statement of owner's equity equation:

 
$285,000
Beginning capital


+    5,000
Investments


+  84,000
Net income


-   26,000
Drawn by owner 

$348,000  
Ending capital


OR  using the balance sheet equation:


Assets = Liabilities + Owner’s Equity


$858,000 [from part (d)] = $510,000 + Owner's Equity


Owner's Equity = $348,000

(d) 
Using the balance sheet equation:


Assets = Liabilities + Owner’s Equity


Assets = $510,000 + ($285,000 + $5,000 + $84,000 - $26,000)


Assets = $858,000 

	PROBLEM 1-5A


ADVANCE \d6

ADVANCE \d6VERMA’S REPAIR SHOP

	ADVANCE \d6

	Cash
	+
	Accounts

Receivable
	+
	Supplies
	+
	Equipment
	=
	Accounts

Payable
	+
	Note Payable
	+
	A. Verma,

Capital
	
	
	A. Verma, Drawings
	
	Revenue
	
	
	Expenses

	May 1

2

5

7

9

15

16

26

27

28

31

31

31
	+$14,000

  –2,000

    –640

    +2,100

 –500

+500

-350

-220

-1,000

000 0000
$11,890
	+
	+$1,800 

-500 

   +350

$1,650
	+

+

+

+
	+$350

0 0 0
$350
	+

+

+

+

+

+
	+$8,000

00000000
$8,000
	=

=

=

=

=

=

=
	+$350

-350

+100

0000000
$100 
	
	+$6,000

0 0000
$6,000
	+

+

+

+
	+$14,000

000000
$14,000
	
	
	-$500

0   00000
-$500
	+
	+$2,100

+1,800

   +350

$4,250

	
	
	-$640

   00-220

-100

-1,000
000000
-$1,960



$21,890 = $21,890

PROBLEM 1-5A (Continued)

(b)
Capital investment

$14,000

Less:   Drawings

      500



13,500

Add:   
Revenue

4,250
Less: 
Expenses

    1,960
A. Verma, Capital, May 31

$15,790

	PROBLEM 1-6A


(a)
1.
Only the assets that belong to the business and the liabilities that are owed by the business should be recorded in its financial statements. The boat and related debt should be removed from the balance sheet. (economic entity assumption)

2. The supplies should be recorded at cost until they are used. (cost principle)

(b)

GG Company

Balance Sheet

December 31, 2008

Assets

Liabilities and Owner’s Equity

Cash
$20,000
Accounts payable
$30,000

Accounts receivable
55,000
Notes payable
15,000

Supplies
  15,000
G. Gelinas, Capital
 45,000
Total assets
$90,000
Total liabilities and 



owner’s equity
$90,000


G. Gelinas, Capital = $65,000 - $15,000 - $18,000 + $13,000

= $45,000
	PROBLEM 1-7A


(a) and (b)

1.

L


BS
Accounts payable
$159

2.

A


BS
Accounts receivable
90
3.
A


BS
Cash
99
4.

A


BS
Hotel real estate and equipment
1,436
5.

E


IS
Interest expense
33
6.

A


BS
Investments
161
7.

A


BS
Non-hotel real estate
100
8.

L


BS
Notes payable
802
9.

E


IS
Operating expenses
661
10.

A


BS
Other assets
501
11.

L


BS
Other liabilities
256
12.

R


IS
Other revenue
37
13.

R


IS
Revenues from hotel operations
831
14.

L


BS
Salaries payable
35
15.

C


OE
T. Waye, capital, January 1
966
16.

D


OE
T. Waye, drawings
5
(c) 
Assets = Liabilities + Owner’s Equity


($90 + $99 + $1,436 + $161 + $100 + $501) = ($159 + $802 + $256 + $35) + ($966 + $37 + $831 - $33 - $661 - $5)
$2,387 = $1,252 + $1,135
	PROBLEM 1-8A


(a)
BARRY CONSULTING

	Trans- action
	Cash
	+
	Accounts Receivable
	+
	Office Supplies
	+
	Office Equipment 
	=
	Notes Payable
	+
	Accounts Payable 
	+
	L. Barry, Capital
	-
	L. Barry, Drawings
	+
	Revenue
	-
	Expenses

	June  1
	+$4,000
	
	
	
	
	
	
	
	
	
	
	
	+$4,000
	
	
	
	
	
	

	2
	-600
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	-$600

	3
	
	
	
	
	+$425
	
	
	
	
	
	+$425
	
	
	
	
	
	
	
	

	5
	-75
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	-75

	9
	+2,175
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	+$2,175
	
	

	12
	-800
	
	
	
	
	
	
	
	
	
	
	
	
	
	-$800
	
	
	
	

	15
	
	
	+$3,000
	
	
	
	
	
	
	
	
	
	
	
	
	
	+3,000
	
	

	17
	-1,500
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	-1,500

	20
	-425
	
	
	
	
	
	
	
	
	
	-425
	
	
	
	
	
	
	
	

	23
	+2,000
	
	-2,000
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	26
	+5,000
	
	
	
	
	
	
	
	+$5,000
	
	
	
	
	
	
	
	
	
	

	29
	-1,900
	
	
	
	
	
	+$1,900
	
	
	
	
	
	
	
	
	
	
	
	

	30
	-150
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	-150

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	$7,725
	+
	$1,000
	+
	$425
	+
	$1,900
	=
	$5,000
	+
	$     0
	+
	$4,000
	-
	$800
	+
	$5,175
	-
	$2,325



$11,050 = $11,050

Note: 
The first June 1 transaction is not relevant to the business entity. It is a personal transaction.

The June 25 transaction is not recorded because the transaction has not yet been completed. Revenue will not be earned until the services are performed in July.

ADVANCE \d6PROBLEM 1-8A (Continued)

(b)
Net income = Revenues – Expenses = ($5,175 - $2,325) = $2,850
Owner’s Equity = Investment – Drawings + Net income =
($4,000 - $800 + $2,850) = $6,050

(c)

ADVANCE \d6
BARRY CONSULTING

Balance Sheet

June 30, 2008

ADVANCE \u7

ADVANCE \d6
Assets

Cash

$  7,725

Accounts receivable

1,000

Office supplies

425

Office equipment

    1,900 


Total assets

$11,050
ADVANCE \d6
Liabilities and Owner's Equity

Liabilities


Note payable

$  5,000

Owner’s equity


L. Barry, Capital (see part (b))

    6,050

          Total liabilities and owner's equity

$11,050
	PROBLEM 1-9A


ADVANCE \d6(a)


	ADVANCE \d6

	Cash
	+
	Accounts

Receivable
	+
	Supplies
	+
	Office

Equipment
	=
	Notes

Payable
	+
	Accounts

Payable
	+
	B. Fraser,

Capital
	-
	
	B. Fraser, Drawings
	+
	Revenue
	-
	Expenses

	Bal

Sept. 1

1

4

8

14

15

18

20

25

28

29

30

30
	$ 4,500

-2,800

-800

+1,450

   -700

0  -200 

  +500

  -200

+7,500

+2,900

    -675

      -500

$10,975
	+
	$1,800

-1,450

+500
-500

+1,400

00 000000
$1,750
	
	$400

0    0000
$400
	+
	$6,500

+2,000

000000
$8,500
	=
	+

+$7,500
00000
$7,500 
	+
	$3,200

-2,800

+1,300

+175

000000
$1,875 
	+
	$10,000

000000
$10,000
	-
	
	
	-$200

 -500

$700
	+
	+$500

+4,300

   000000
$4,800
	-$800

-200

-675

-175
0000 0  0
- $1,850




$21,625 = $21,625

Note: 
The September 5 transaction and the September 26 transaction are not recorded because these transactions are not yet completed. 


In the September 5 transaction, the expense incurred for the office assistant will be recorded when the office assistant has worked for Fraser.


In the September 26 transaction, Accounts Receivable will decrease and Cash will increase when the customer actually pays amounts outstanding.
ADVANCE \d6PROBLEM 1-9A (Continued)

(b)


FRASER VETERINARY CLINIC
Income Statement

Month Ended September 30, 2008

ADVANCE \u7

ADVANCE \d6Revenues


Fees earned

$4,800

Expenses


Rent expense

$800


Salaries expense

675


Advertising expense

200


Utilities expense

  175


Total expenses

  1,850
Net income

$2,950
ADVANCE \d6
FRASER VETERINARY CLINIC
Statement of Owner's Equity

Month Ended September 30, 2008

ADVANCE \u7

ADVANCE \d6B. Fraser, Capital, September 1

$10,000

Add:  ADVANCE \r1
Net income

   2,950


12,950

Less:  
Drawings

      700
B. Fraser, Capital, September 30

$12,250
ADVANCE \d6PROBLEM 1-9A (Continued)

(b) (Continued)

ADVANCE \d6
FRASER VETERINARY CLINIC
Balance Sheet

September 30, 2008

ADVANCE \u7

ADVANCE \d6
Assets

Cash

$10,975

Accounts receivable

1,750

Supplies on hand

400

Office equipment

    8,500


Total assets

$21,625
Liabilities and Owner's Equity

Liabilities


Notes payable

$ 7,500


Accounts payable

   1,875


Total liabilities

9,375

Owner's Equity


B. Fraser, Capital
0
  12,250



Total liabilities and owner's equity

$21,625

	PROBLEM 1-10A


JOHANSEN DESIGNS

Income Statement

Year Ended December 31, 2008

ADVANCE \u7

ADVANCE \d6Revenues


Design fee revenue

$87,425

Expenses


Salaries expense

$47,400


Rent expense

12,000


Utilities expense

3,800


Office supplies expense

1,875


Interest expense

      225


Total expenses

  65,300
Net income

$22,125
ADVANCE \d6JOHANSEN DESIGNS

Statement of Owner's Equity

Year Ended December 31, 2008

ADVANCE \u7

ADVANCE \d6J. Johansen, Capital, January 1

$21,840

Add: 
ADVANCE \r1Net income

 22,125


43,965

Less:
Drawings

  25,000
J. Johansen, Capital, December 31

$18,965
ADVANCE \d6

ADVANCE \d6PROBLEM 1-10A (Continued)

JOHANSEN DESIGNS

Balance Sheet

December 31, 2008

ADVANCE \u7

ADVANCE \d6
Assets

Cash

$  7,420

Accounts receivable

5,460

Office supplies

375

Furniture

8,380

Computer equipment

   5,750


Total assets

$27,385
Liabilities and Owner's Equity

Liabilities


Notes payable

$ 4,250


Accounts payable

   4,170


Total liabilities

8,420

Owner's equity


J. Johansen, Capital

 18,965



Total liabilities and owner's equity

$27,385
	PROBLEM 1-11A


(a)
(i)
$110,000 (from ii) - $5,000 - $10,000 - $45,000 = $50,000


(ii)
Total liabilities and owner’s equity = $110,000


(iii)
$66,500 - $59,600 = $6,900


(iv)
$110,000 - $66,500 = $43,500


(v)
$60,000 - $18,000 - $7,000 = $35,000


(vi)
$80,000 - $60,000 = $20,000


(vii)
$57,500 - $35,000 - $20,000 (from vi) = $2,500

(viii)
$20,000 (from vi)

(ix)
$57,500 - $43,500 (from x) = $14,000


(x) 
$43,500 from the balance sheet (from iv)

(b)
In preparing the financial statements the first statement to be prepared is the income statement. The net income figure is used in the statement of owner’s equity to calculate the ending balance of capital. The balance sheet is then completed using the balance of capital as calculated in the statement of owner’s equity. Finally, the statement of cash flows is completed using information from the income statement (e.g. net income) and balance sheet (e.g. cash balance).

ADVANCE \d6
	PROBLEM 1-1B


1. In deciding whether to change to a new supplier, Blackroads Company would focus its attention on the company’s income statement. The income statement reports the company’s past performance in terms of revenues, expenses and net income. This is generally regarded as a good indicator of the company’s future performance.
2. The labour union would be interested in whether the company can pay increased wages and benefits. To evaluate this, the union should focus on the cash flow statement. This statement provides information on the cash the company generates from its operations on an ongoing basis. This will be the most important factor in determining if the company can generate sufficient cash to pay the increased wages and benefits. 

3. In deciding whether to extend a loan, the Caisse d’Economie Base Montréal is interested in two things—the ability of the company to make interest payments on an annual basis for the next five years and the ability to repay the principal amount at the end of five years. In order to evaluate both of these factors the focus should be on the cash flow statement. This statement provides information on the cash the company generates from its operations on an ongoing basis. This will be the most important factor in determining if the company will survive and be able to repay the loan.

	PROBLEM 1-2B


1.
The cost principle has been violated. Dot.com did not purchase the employees. It cannot use an estimated value to record them on the balance sheet. Also, by recording the value of its people, Dot.com Company is violating the monetary unit assumption. They are estimating and recording the value of the “knowledge assets” but at this present time, there is no method to measure this value in monetary terms.

2.
Barton violated the cost principle, which states that assets are recorded at the amount paid to acquire them. It does not permit writing them up in value.

3.
Wolfson violated the economic entity assumption. Assets for her personal use should be kept separate from the company.

	PROBLEM 1-3B


(a) Dawn will likely operate her vegetable stand as a proprietorship because she is planning on operating it for a short time period and a proprietorship is the simplest and least costly to form and dissolve. 

(b) Sabra should form an income trust to attract investors. This is the best form of business for her to choose because she expects to attract investors for an income-producing asset. A trust pays out most of its earnings to the investors in the form of cash distributions.

(c) The professors should incorporate their business because of their concerns about the legal liabilities. A corporation is the only form of business that provides limited liability to it owners.

(d)
A partnership would be the most likely form of business for Mary and Richard to choose. It is simpler to form than a corporation and less costly.
	PROBLEM 1-4B


(a) Using the balance sheet equation:


Assets = Liabilities + Owner’s Equity


$617,000 = Liabilities + $250,000


Liabilities = $367,000 

 (b)
Using the income statement equation:


Revenues – Expenses = Net Income


$348,000 – Expenses = $72,000


Expenses = $276,000

(c)  
Using the statement of owner's equity equation:

 
$250,000
Beginning capital


+  11,000
Additional investments


+  72,000
Net income


-   34,000
Drawn by owner 

$299,000   
Ending capital


OR using the balance sheet equation:


Assets = Liabilities + Owner’s Equity


$769,000 [from part (d)] = $470,000 + Owner's Equity


Owner's Equity = $299,000

(d) 
Using the balance sheet equation:


Assets = Liabilities + Owner’s Equity


Assets = $470,000 + ($250,000 + $11,000 – $34,000 + $72,000)


Assets = $769,000

	PROBLEM 1-5B


(a) 
LOKEN TRAVEL AGENCY

	ADVANCE \d6

	Cash
	+
	Accounts

Receivable
	+
	Supplies
	+
	Office

Equipment
	=
	Accounts

Payable
	+
	Note Payable
	+
	Loken, A.

Capital
	-
	Loken, A. Drawings
	+
	Revenues
	-
	Expenses

	Apr  1

2
2

7

8

11

15

25

30

30

30
	+$12,000

     –600

  –2,000

     –725

  +1,000

    –500

    –300

–3,200

 +6,000
$11,675
	+


	+$8,000

  –6,000

$  2,000
	+
	+$725

00  0
$725
	+
	+$5,500

0 00  0
$5,500
	=
	+$300

–300

+1,000
0   0  0
$1,000 

	+
	+$3,500

000   0
$3,500

	+
	+$12,000

000000
$12,000
	-


	-$500

00  0
$500

	+
	+$9,000

00000
$9,000
	-
	-$600

-300

-3,200

-1,000

00000
$5,100



$19,900 = $19,900
PROBLEM 1-5B (Continued)

(b)
Capital Investment

$12,000


Less:  Drawings

      500



11,500


Add:   Revenue

9,000


Less:  Expenses

    5,100

A. Loken, Capital, April 30

$15,400
	PROBLEM 1-6B


(a)
1.
The land should be recorded at cost until it is sold. The increase in value is not recorded until the land is sold. (cost principle)

2.
The accounts receivable should be recorded in Canadian dollars not in yuan. (monetary unit assumption)

3.
The accounting equation states that Assets = Liabilities + Owner’s Equity. Cai needs to classify his assets and liabilities in this way in the balance sheet in order to determine the Owner’s Equity balance.

ADVANCE \d6PROBLEM 1-6B (Continued)

(b)

PLATO’S BOOK SHOP

Balance Sheet

April 30, 2008

ADVANCE \u7

ADVANCE \d6
Assets

Cash
 
$    8,000

Accounts receivable ($5,000 + $2,000)

7,000

Supplies

4,000

Land

36,000

Equipment and furnishings

57,000

Building

  110,000

Total assets

$222,000
ADVANCE \d6
Liabilities and Owner's Equity

Liabilities


Notes payable

 $119,000

Accounts payable

    12,000


Total liabilities

131,000

Owner's equity:


C. Cai, Capital

    91,000



Total liabilities and owner's equity

$222,000

	PROBLEM 1-7B


(a) and (b)

($ in thousands)

1.

L


BS
Accounts payable
$ 1,197

2.

A


BS
Accounts receivable
547

3.

E


IS
Aircraft fuel expense
432

4.

E


IS
Airport fee expense
309

5.

R


IS
Cargo revenues
151

6.

A


BS
Cash
632

7.

C


OE
C. Chung, capital, January 1
1,150

8.

D


OE
C. Chung, drawings
4

9.

R


IS
Interest revenue
60

10.

E


IS
Maintenance expense
78

11.

L


BS
Notes payable
2,546

12.

A


BS
Other assets
1,274

13.

E


IS
Other expenses
650

14.

L


BS
Other liabilities
1,440

15.

R


IS
Other revenue
230

16.

R


IS
Passenger revenues
1,681

17.

A


BS
Property and equipment
3,696

18.
E


IS
Salaries expense
596

19.

A


BS
Spare parts, materials, and supplies
237

(c)
($ in thousands)

 
Assets = Liabilities + Owner’s Equity


($547 + $632 + $1,274 + $3,696 + $237) = ($1,197 + $2,546 + $1,440) + ($1,150 - $4 - $432 - $309 + $151 + $60 - $78 - $650 + $230 + $1,681 - $596)

$6,386 = $5,183 + $1,203

	PROBLEM 1-8B


(a)
ANITA LETOURNEAU, LAWYER

	Trans-
	
	Cash
	+
	Accounts
	+
	Office
	+
	Computer
	+
	Office
	=
	Note
	+
	Accounts
	+
	LeTourneau,
	+
	Revenue
	-
	Expenses

	action
	
	
	
	Receivable
	
	Supplies
	
	Equipment
	
	Furniture
	
	Payable
	
	Payable
	
	Capital
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	Mar. 10
	
	+$40,000
	
	
	
	
	
	
	
	
	
	
	
	
	
	+$40,000
	
	
	
	

	15
	
	-1,000
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	-$1,000

	21
	
	-8,000
	
	
	
	
	
	
	
	$8,000
	
	
	
	
	
	
	
	
	
	

	23
	
	-2,000
	
	
	
	
	
	+$6,500
	
	
	
	+$4,500
	
	
	
	
	
	
	
	

	24
	
	
	
	
	
	+$500
	
	
	
	
	
	
	
	+$500
	
	
	
	
	
	

	31
	
	
	
	$3,000
	
	
	
	
	
	
	
	
	
	
	
	
	
	$3,000
	
	

	31
	
	-500
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	-500

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	$28,500
	+
	$3,000
	+
	$500
	+
	$6,500
	+
	$8,000
	=
	$4,500
	+
	$500
	+
	$40,000
	+
	$3,000
	-
	$1,500

	
	
	
	
	
	
	
	
	
	
	$46,500
	=
	$46,500
	
	
	
	
	
	
	
	


Notes: 
Items 1 (March 4), 2 (March 7), and 4 (March 14) are not relevant to the business entity. They are personal transactions.


Item 6 (March 20) is not recorded, because the transaction has not yet been completed. There is no expense, nor liability, until he begins working.

ADVANCE \d6PROBLEM 1-8B (Continued)

(b)
Net income = Revenues – Expenses = $3,000 - $1,500 


= $1,500
Owner’s Equity = Investment – Drawings + Net income 

= $40,000 - $0 + $1,500 = $41,500

(c)

ADVANCE \d6
ANITA LETOURNEAU, LAWYER

Balance Sheet

March 31, 2008

ADVANCE \u7

ADVANCE \d6


Assets

Cash

$28,500

Accounts receivable

3,000

Office supplies

500

Computer equipment

6,500

Office furniture

    8,000 


Total assets

$46,500
ADVANCE \d6
Liabilities and Owner's Equity

Note payable

$ 4,500

Accounts payable

      500


Total liabilities

5,000

Owner’s Equity


A. LeTourneau, Capital

 41,500


Total liabilities and owner's equity

$46,500
	PROBLEM 1-9B


(a)
TONY TIBERIO, BARRISTER & SOLICITOR

	ADVANCE \d6

	Cash
	+
	Accounts

Receivable
	+
	Supplies
	+
	Office

Equipment
	=
	Notes 

Payable
	
	Accounts

Payable
	+
	T. Tiberio, Capital
	-
	T.Tiberio Drawings
	+
	Revenues
	-
	Expenses

	Bal

Aug. 4

7

8

12

15

18

20

26

29

30
	$4,000

+1,200

–2,700

+3,000

  –400

–3,500

-900

-275      

+3,500 

 –500

+2,000

00000

$5,425
	+

+
	$1,500

–1,200

+3,500

-3,500

+1,000
$1,300
	+

+
	$500

0000
$500
	+

+
	$5,000

+1,200

00000
$6,200
	=

=
	+2,000

00000   

$2,000

	
	$5,100

–2,700

  +800

+275
00000
$3,475 
	+

+
	$5,900

000 00
$5,900
	-
	-$500

0000

$500
	+
	+$6,500

+1,000

$7,500
	-
	-$3,500

-900

-275

-275

00000

$4,950



$13,425 = $13,425

Note that the August 28 transaction is not recorded, because the work will not commence until September.

ADVANCE \d6 PROBLEM 1-9B (Continued) 

(b)


TONY TIBERIO, BARRISTER & SOLICITOR
Income Statement

Month Ended August 31, 2008

ADVANCE \u7

ADVANCE \d6Revenues


Fees earned

$7,500

Expenses


Salaries expense

$3,500


Rent expense

900


Advertising expense

275


Utilities expense

    275


Total expenses

  4,950
Net income

$2,550
ADVANCE \d6
TONY TIBERIO, BARRISTER & SOLICITOR
Statement of Owner's Equity

Month Ended August 31, 2008

ADVANCE \u7

ADVANCE \d6T. Tiberio, Capital, August 1

$5,900

Add:   ADVANCE \r1Net income

  2,550


8,450

Less:  Drawings

     500
T. Tiberio, Capital, August 31

$7,950
ADVANCE \d6 PROBLEM 1-9B (Continued)

(b) (Continued)

ADVANCE \d6
TONY TIBERIO, BARRISTER & SOLICITOR
Balance Sheet

August 31, 2008

ADVANCE \u7

ADVANCE \d6
Assets

Cash

$ 5,425

Accounts receivable

1,300

Supplies on hand

500

Office equipment

   6,200


Total assets

$13,425
Liabilities and Owner's Equity

Liabilities


Notes payable

$ 2,000


Accounts payable

   3,475


Total liabilities

5,475

Owner's Equity


T. Tiberio, Capital

    7,950



Total liabilities and owner's equity

$13,425

ADVANCE \d6ADVANCE \d6
	PROBLEM 1-10B


BENNETT’S HOME RENOVATIONS

Income Statement

Year Ended December 31, 2008

ADVANCE \u7

ADVANCE \d6Revenues


Renovation fee revenue

$110,500

Expenses


Interest expense

$      850


Liability insurance expense

2,410


Office supplies expense

2,125


Truck operating expense

13,960


Wages expense

   62,450 



Total expenses

   81,795
Net income

$ 28,705
ADVANCE \d6
ADVANCE \d6
BENNETT’S HOME RENOVATIONS

Statement of Owner's Equity

Year Ended December 31, 2008

ADVANCE \u7

ADVANCE \d6J. Bennett, Capital, January 1

$38,820

Add:  
ADVANCE \r1Net income

  28,705


67,525

Less:  J. Bennett, Drawings

  32,000
J. Bennett, Capital, December 31

$35,525

ADVANCE \d6PROBLEM 1-10B (Continued)

BENNETT’S HOME RENOVATIONS

Balance Sheet

December 31, 2008

ADVANCE \u7


Assets

Cash

$ 5,500

Accounts receivable

7,200

Office supplies

425

Truck

30,000

Equipment

  21,000


Total assets

$64,125
Liabilities and Owner's Equity

Liabilities


Notes payable

$22,000


Accounts payable

   6,600


Total liabilities

28,600

Owner's equity


J. Bennett, Capital

  35,525



Total liabilities and owner's equity

$64,125
	PROBLEM 1-11B


(a)
(i)
$85,000 (from ii) - $20,000 - $15,000 - $40,000 = $10,000


(ii)
Total liabilities and owner’s equity = $85,000


(iii)
$45,000 - $29,600 = $15,400


(iv)
$85,000 - $45,000 = $40,000


(v)
$54,000 - $29,000 - $7,000 = $18,000


(vi)
$75,000 - $54,000 = $21,000


(vii)
$51,000 - $10,000 - $21,000 = $20,000


(viii)
$21,000 from income statement (from vi)


(ix)
$51,000 - $40,000 from (from x) = $11,000


(x) 
$40,000 from the balance sheet (from iv)

(b)
In preparing the financial statements, the first statement to be prepared is the income statement. The net income figure is used in the statement of owner’s equity to calculate the ending balance of capital. The balance sheet is then completed using the balance of capital as calculated in the statement of owner’s equity. Finally, the statement of cash flows is completed using information from the income statement (e.g. net income) and balance sheet (e.g. cash balance).

	CONTINUING COOKIE CHRONICLE


(a)
Natalie has a choice between a sole proprietorship and a corporation. A partnership is not an option since she is the sole owner of the business.


A proprietorship is the easiest to create and operate because there are no formal procedures involved in creating the proprietorship. However, if she operates the business as a proprietorship she will personally have unlimited liability for the debts of the business. Operating the business as a corporation would limit her liability to her investment in the business. Natalie will in all likelihood require the services of a lawyer to incorporate. Costs to incorporate as well as additional ongoing costs to administrate and operate the business as a corporation may be costly.


My recommendation is that Natalie choose the proprietorship form of business organization. This is a very small business where the cost of incorporating outweighs the benefits of incorporating at this point in time. Furthermore, it will be easier to stop operating the business if Natalie decides not to continue with it once she is finished college.

CONTINUING COOKIE CHRONICLE (Continued)

(b)
Yes, Natalie will need accounting information to help her operate her business. She will need information on her cash balance on a daily or weekly basis to help her determine if she can pay her bills. She will need to know the cost of her services so she can establish her prices. She will need to know revenue and expenses so she can report her net income for personal income tax purposes, on an annual basis. If she borrows money, she will need financial statements so lenders can assess the liquidity, solvency, and profitability of the business. Natalie would also find financial statements useful to better understand her business and identify any financial issues as early as possible. Monthly financial statements would be best because they are more timely, but they are also more work to prepare.

(c)
Assets:  Cash, Accounts Receivable, Supplies, Equipment, Prepaid Insurance


Liabilities:  Accounts Payable, Unearned Revenue, Notes Payable



Owner’s Equity: N. Koebel, Capital, N. Koebel, Drawings


Revenue: Teaching Revenue


Expenses: Advertising Expense, Supplies Expense, Travel Expense, Telephone Expense, Insurance Expense

(d)
Natalie should have a separate bank account. This will make it easier to prepare financial statements for her business. The business is a separate entity from Natalie and must be accounted for separately.

ADVANCE \d6
	BYP 1-1 FINANCIAL REPORTING PROBLEM


(a)
There are 19 notes to the financial statements, which occupy nine pages. The financial statements themselves take up three pages.

(b)
As per note 2 (j) the Company’s fiscal year is the 52 week period ended January 29, 2006. The previous fiscal year was the 52 week period ended January 30, 2005. The Company’s fiscal year follows the retail calendar.

(c)
Total assets as at 


January 29, 2006: 
$653,206,000


January 30, 2005:
$608,154,000

(d)
$7,788,000 (from net earnings of $21,545,000 to net earnings of $13,757,000)

(e)
Cash on hand was


January 29, 2006: 
$19,266,000


January 30, 2005:
$26,018,000

	BYP 1-2 INTERPRETING FINANCIAL STATEMENTS


(a) For a company such as RIM, the most important economic resources are the knowledge, skills, and creativity of its people. These human resources are not reflected in the balance sheet.

ADVANCE \d6(b)
The balance sheet reflects only the results of business transactions, based upon the cost principle. It does not attempt to show what the company's assets are currently worth.


In the case of a company which has just recently been formed, the accounting (or book) values recorded on the balance sheet may be approximately the same as the economic (or market) values. For companies which have been in existence for some time, however, there may be a great difference between the historical amounts recorded in the accounting system and the current values of these items, in economic terms.

ADVANCE \d6(c)
There are several reasons why RIM might prepare its financial statements in US dollars. It might be done for regulatory reasons, in order to be listed on American stock exchanges. It might also be done because the company does a great deal of business in the US and wants to be compared accurately with its American competitors. Another possible reason is that RIM competes in many countries worldwide, and the US dollar is a more recognized unit of currency on a global basis. 

	BYP 1-3 COLLABORATIVE LEARNING ACTIVITY


All of the material supplementing the collaborative learning activity, including a suggested solution, can be found in the Collaborative Learning section of the Instructor Resources site accompanying this textbook.

	BYP 1-4 COMMUNICATION ACTIVITY


Date:

To:
Robert Joote

From:
Student

Subject:
Balance Sheet Correction

The balance in your capital account should be the accumulation of all investments, either in cash or other assets, contributed by you to the company, less any drawings, in either cash or other assets, you have made for personal use, plus net income and less net losses over time.

The purpose of a balance sheet is to present the financial position of the company at a point in time. The balance sheet lists the company’s assets, liabilities and equities.

I have received the balance sheet of Peak Company as of December 31, 2008. A number of items in this balance sheet are not properly reported. They are:

1. The balance sheet should be dated as of a specific date, not for a period of time. It should be dated "December 31, 2008."

2. The bottom portion of the balance sheet should be headed "Liabilities and Owner's Equity", with sub-headings and sub-totals for the Liabilities section and the Owner's Equity section.

3. Assets should be reordered, in order of liquidity. Equipment should be reported below Supplies on the balance sheet. 

4. Accounts Receivable should be shown as an asset and reported between Cash and Supplies.

BYP 1-4 (Continued)

5. Accounts Payable should be shown as a liability, not an asset. 

6. The Note Payable should be reported in the liability section.

7. R. Joote, Capital and R. Joote, Drawings are not liabilities. They are part of owner's equity. The Drawings account is not reported on the balance sheet but is subtracted from R. Joote, Capital to arrive at owner's equity at the end of the period.

A correct balance sheet is as follows:


PEAK COMPANY

Balance Sheet

December 31, 2008

ADVANCE \u7

ADVANCE \d6
Assets

Cash

$10,500

Accounts receivable

3,000

Supplies

2,000

Equipment

  20,500

Total assets

$36,000
Liabilities and Owner's Equity

Liabilities


Notes payable

$12,000


Accounts payable

   5,000


Total liabilities

17,000

Owner's equity


R. Joote, Capital

  19,000


Total liabilities and owner's equity

$36,000

R. Joote, Capital = $21,000 - $2,000 = $19,000

	BYP 1-5 ETHICS CASE


(a)
The stakeholders in this situation are the new CEO and CFO, and the creditors and investors who rely on the financial statements to make business decisions.

 (b)
The CEO and CFO should not sign the certification until they have taken steps to assure themselves that the most recent reports accurately reflect the activities of the business. However, as the current management of the company, they cannot refuse to sign the certification just because they are new. They are the management team now and must accept the responsibility that goes with these positions.

(c)
The CEO and CFO have no alternative other than to take the steps necessary to assure themselves of the accuracy of the financial information, and, if accurate, sign the certification. If the information is not accurate, they need to make the required corrections to the financial information.

Legal Notice


Copyright

[image: image1.png]WILEY




Copyright © 2009 by John Wiley & Sons Canada, Ltd. or related companies. All rights reserved.

The data contained in these files are protected by copyright. This manual is furnished under licence and may be used only in accordance with the terms of such licence.

The material provided herein may not be downloaded, reproduced, stored in a retrieval system, modified, made available on a network, used to create derivative works, or transmitted in any form or by any means, electronic, mechanical, photocopying, recording, scanning, or otherwise without the prior written permission of John Wiley & Sons Canada, Ltd.


Solutions Manual 
1-19
Chapter 1

Copyright © 2009 John Wiley & Sons Canada, Ltd. Unauthorized copying, distribution, or transmission of this page is strictly prohibited.


